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PAPER – I 

(COMMON FOR ALL SUBJECTS) 

Note : This paper contains sixty (60) multiple choice questions, each question carrying 

two (2) marks. Attempt any fifty (50) questions.  

SÔ¨¦ : CÆÂÚõzuõÒ £» ÷ÁÖ£mh ÂøhPøÍ (multiple choice) Eøh¯ AÖ£x (60) 

ÂÚõUPøÍU öPõskÒÍx. JÆöÁõßÔØS® Cµsk (2) ©v¨ö£sPÒ. H÷uÝ® 

I®£x (50) ÂÚõUPÐUS Âøh¯ÎUPÄ®.  

1. Team teaching has the potential to develop  

(A) Competitive spirit  

(B) Co-operation 

(C) The habit of supplementing the teaching of each other 

(D) Highlighting the gaps in each other’s teaching 

 SÊU PØ¤zuÀ Áõ°»õP G¢u¨ £s¦ ÁÍºUP¨£kQÓx? 

(A) ÷£õmiz vÓß 

(B) JØÖø© 

(C) ¤Ó B]›¯›ß PØ¤zu¾hß ÷\º¢x PØ¤US® £ÇUP® 

(D) ¤Óº PØ¤zu¼À EÒÍ SøÓPøÍ öÁÎ¨£kzxuÀ 

2. Which of the following is the most important characteristic of open book examination? 

(A) Students become serious  

(B) It improves attendance in the class room 

(C) It reduces examination anxiety  

(D) It compels students to think 

 ¤ßÁ¸ÁÚÁØÔÀ Gx vÓ¢u ¡À ÷uºÂß ªP •UQ¯©õÚ C¯À£õS®? 

(A) ©õnÁºPÒ AvP ]µzøu²hß Dk£kQßÓÚº 

(B) ÁS¨£øÓ°À ©õnÁº Á¸øPø¯ ÷©®£kzxQÓx 

(C) ©õnÁºPÎøh÷¯ ÷uºÄ¨ £umh® SøÓQÓx 

(D) ©õnÁºPøÍ ]¢vUPz yskQÓx 

3. The present annual examination system 

(A) Promotes rote learning 

(B) Does not promote good study habits 

(C) Does not encourage students to be regular to classes 

(D) All the above 

 CßøÓ¯ Põ» PmhzvÀ Bskz ÷uºÄ •øÓ¯õÚx 

(A) ©Ú¨£õh® ö\´uø» ÁÍºUQÓx 

(B) |À» £i¨¦ £ÇUPzøu ÁÍº¨£vÀø» 

(C) ©õnÁºPÒ ÁS¨¤ØS uÁÓõ©À Á¸ÁuØS FUSÂ¨£vÀø» 

(D) ÷©ØTÔ¯ AøÚzx® 
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4. Effective writing depends on  

(A) Voracious reading made again and again 

(B) Right vocabulary, idioms and phrases 

(C) Felicity of expression and appropriate diction 

(D) Clarity, readability and content  

 ]Ó¨£õP GÊxÁöuß£x Gøua \õº¢v¸¨£x? 

(A) ÷©¾® ÷©¾® ¦zuP[PÒ Áõ]US® £ÇUP® 

(B) ö£õ¸zu©õÚ ö\õØPÒ, ©µ¦z öuõhº ©ØÖ® ö\õØöÓõhº 

(C) ¤µÍÁ©õÚ ö\õÀ öÁÎ¨£õk ©ØÖ® ö£õ¸zu©õÚ ö\õÀÁÍ® 

(D) öuÎÄ, Áõ]¨£vÀ GÎø© ©ØÖ® ö£õ¸Ò 

5. A dissertation is meant for perusal by  

(A) Great scholars and serious readers 

(B) A learned audience that is familiar with the latest developments and discoveries 

in the subject  

(C) Research students and others who want to pursue research 

(D) University and college professors 

 Bµõ´a]U Pmkøµ Gß£x GÁµõÀ £iUP¨£kQßÓx? 

(A) ]Ó¢u AÔbºPÒ ©ØÖ® BÌ¢x £i¨£ÁºPÒ 

(B) J¸ xøÓ°À Asø©°À EshõÚ ÁÍºa] ©ØÖ® Psk¤i¨¦PøÍ¨ £ØÔ |ßS 

PØÖ AÔ¢uÁºPÒ 

(C) Bµõ´a] ©õnÁºPÒ ©ØÖ®  Bµõ´a] ö\´£ÁºPÒ 

(D) £ÀPø»U PÇP ©ØÖ® PÀ¿›¨ ÷£µõ]›¯ºPÒ 

6. What is plagiarism?  

(A) A serious discussion of a valid point in a research work 

(B) To take words and ideas from someone else’s work without acknowledgement  

(C) To steal books from a locked house 

(D) It is a form of stylish writing 

 C»UQ¯z v¸mk GßÓõÀ GßÚ? 

(A) Kº Bµõ´a] ö\¯¼À, J¸ •UQ¯©õÚ P¸zx £ØÔz wÂµ©õP P»¢xøµ¯õkuÀ 

(B) AÝ©v°À»õ©À ©ØÓÁº ¡ÀPÎ¼¸¢x ö\õØPøÍ²®, P¸zxUPøÍ²® 

øP¯õÐuÀ 

(C) §mi C¸US® Ãmi¼¸¢x ¡ÀPøÍz v¸kÁx 

(D) J¸ Âu©õÚ, J°»õÚ GÊzx |øh 
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7. Interpersonal communication involves the following   

(A) Close proximity of participants to each other, large number of participants, 

many sensory channels and immediate feedback 

(B) Small number of participants, close proximity of participants and immediate 

feedback 

(C) Small number of participants, close proximity of participants, few sensory 

channels and immediate feedback 

(D) Small number of participants, close proximity of participants, many sensory 

channel and feedback in phases 

 ÷|›øhz uPÁÀ ¤ßÁ¸ÁÚÁØøÓ EÒÍhUQ²ÒÍx 

(A) öuõhº¦ öPõÒ÷Áõº J¸Á¸UöPõ¸Áº A¸Põø©°À EÒÍÚº; AvP©õÚ 

£[÷PØ÷£õº; £»¦»ß ÁÈPÒ; EhÚi ¤ßÞmk 

(B) SøÓ¢u AÍÄ £[÷PØ÷£õº;  öuõhº¦ öPõÒ÷Áõº J¸Á¸UöPõ¸Áº A¸Põø©°À 

EÒÍÚº;  EhÚi ¤ßÞmh® 

(C) SøÓ¢u AÍÄ £[÷PØ÷£õº;  öuõhº¦ öPõÒ÷Áõº J¸Á¸UöPõ¸Áº A¸Põø©°À 

EÒÍÚº; ]» ¦»ß ÁÈPÒ;  EhÚi ¤ßÞmh® 

(D) SøÓ¢u AÍÄ £[÷PØ÷£õº;  öuõhº¦ öPõÒ÷Áõº J¸Á¸UöPõ¸Áº A¸Põø©°À 

EÒÍÚº; £» ¦»ß ÁÈPÒ;  ¤ßÞmk £»{ø»PÎÀ 

8. The Russian proverb “once a word goes out of your mouth, you can never swallow it 

again” points out 

(A) Interpersonal communication is irreversible with long lasting effect  

(B) If one opens one’s mouth, one cannot swallow 

(C) Interpersonal communication is a one way process 

(D) Words flow faster outward than inward 

 “Áõ°¼¸¢x öÁÎÁ¢u ö\õØPøÍ ÂÊ[P •i¯õx” GßÓ µè¯¨ £Çö©õÈ°¼¸¢x 

AÔÁx ¯õöuÛÀ 

(A) ÷|›øhz uPÁÀ ©õØÓ C¯»õx ©ØÖ® }sh uõUP® Eøh¯x 

(B) J¸Áº Áõø¯z vÓ¢v¸¢u {ø»°À Gøu²® ÂÊ[P •i¯õx 

(C) ÷|›øhz uPÁÀ J¸ ÁÈa ö\¯À£õk 

(D) ö\õØPÒ ÂøµÁõP EÒÁ¸Áøu Âh öÁÎa ö\ÀQßÓÚ 

9. What are ethical dilemmas faced while communicating?  

(A) Secrecy and whistle – blowing  

(B) Rumour and gossip 

(C) Ambiguity and euphemism 

(D) All the above 

 uPÁÀ £›©õØÓzvÀ Gvº÷|õUP¨£k® ö|Ô{ø»U SÇ¨£[PÒ  

(A) CµP]¯® ©ØÖ® Esø©ø¯ öÁÎU öPõnºuÀ 

(B) Áu¢v ©ØÖ® Á®¦¨ ÷£a_ 

(C) öuÎÁØÓ {ø» ©ØÖ® _ØÔ ÁøÍzx¨ ÷£_uÀ 

(D) ÷©ØTÔ¯ AøÚzx® 
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10. A man sold 10 eggs for Rs. 36 and thus gained 20% profit. At what price did he buy an 

egg?  

(A) Rs. 2 

(B) Rs. 3 

(C) Rs. 4 

(D) Rs. 5 

 J¸Áº, £zx •møhPøÍ ¹. 36 US ÂØÓvÀ 20% C»õ£® Qøhzux GßÓõÀ, AÁº J  ̧

•møhø¯ G¢u Âø»US Áõ[QÚõº? 

(A) ¹. 2 

(B) ¹. 3 

(C) ¹. 4 

(D) ¹. 5  

11. What is the next number in the series 4, 6, 9, 13,....... 

(A) 15 

(B) 12 

(C) 18 

(D) 17 

 ¤ßÁ¸® öuõh›À Akzu Gs ¯õx? öuõhµõÁx : 4, 6, 9, 13,...... 

(A) 15 

(B) 12 

(C) 18 

(D) 17  

12. If 3 apples and 4 oranges cost Rs. 100 and 4 apples and 3 oranges cost Rs. 110, find 

the cost of an orange? 

(A) Rs. 11 

(B) Rs. 8 

(C) Rs. 12 

(D) Rs. 10 

 ‰ßÖ B¨¤ÒPÒ ©ØÖ® |õßS Bµg_PÎß Âø» ¹. 100 BS®. |õßS B¨¤ÒPÒ ©ØÖ® 

‰ßÖ Bµg_PÎß Âø» ¹. 110 BS® GßÓõÀ, J¸ Bµg]ß Âø» GÆÁÍÄ? 

(A) Rs. 11 

(B) Rs. 8 

(C) Rs. 12 

(D) Rs. 10 
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13. A question with two statements is given below.  

 What is the price of tea? 

 Statement I : Price of coffee is Rs. 5 more than the price of tea 

 Statement II : Price of coffee is Rs. 5 less than that of a soft drink which is three times 
of the price of tea. 

 To answer the question : 
(A) Statement I alone is enough and Statement II is not necessary 

(B) Statement II alone is enough and Statement I is not necessary  

(C) Both the Statements I and II are necessary 

(D) Both the Statements I and II are not adequate 

ÂÚõ JßÖ C¸ TØÖPÐhß öPõkUP¨£mkÒÍx. 

÷u}›ß Âø» GÆÁÍÄ? 

TØÖ I      : SÍ®¤°ß (Põ¤°ß) Âø» ÷u}›ß Âø»ø¯ Âh ¹. 5 AvP® 

TØÖ II  : SÍ®¤°ß (Põ¤°ß) Âø» ÷u}›ß Âø»ø¯¨ ÷£õÀ 3 ©h[SÒÍ   
       SÎº£õÚzvß  Âø»°¼¸¢x ¹. 5 SøÓÄ. 

ÂÚõÂØPõÚ ÂøÚø¯U PshÔ¯  
(A) TØÖ I ©mk÷© ÷£õx©õÚx; TØÖ II ÷uøÁ°Àø» 
(B) TØÖ II ©mk÷© ÷£õx©õÚx; TØÖ I ÷uøÁ°Àø» 
(C) TØÖ I ©ØÖ® II – Cµsk÷© ÷uøÁ 
(D) TØÖ I ©ØÖ® II – Cµsk÷© ÷£õx©õÚøÁ AÀ» 

 Answer the questions 14 – 18 based on the following information 

 J, K, L,  M and N collected stamps. They collected a total of 100. None of them 
collected less than 10. No two among them collected the same number 

 I. J collected the same number as K and L put together 

 II. L collected 3 more than the cube of an integer 

 III. The number collected by J was the square of an integer 

 IV. The number collected by K was either the square or the cube of an integer 

 V. The numbers collected by M and N were in the ratio of 4 : 3   

 ÂÚõUPÒ 14 – 18 –US R÷Ç öPõkUP¨£mkÒÍ uPÁ¼ß Ai¨£øh°À Âøh u¸P 

 J, K, L,  M ©ØÖ® N BQ¯ IÁ¸® Ag\À ÂÀø»PÒ ÷\P›zuÚº. AÁºPÒ ÷\P›zu 
ÂÀø»PÎß ö©õzu GsoUøP 100 BS®. 10 ÂÀø»PÐUSU SøÓÁõP GÁ¸® 
÷\P›UP ÂÀø». AUSÊÂÀ G¢u C¸Á¸® J÷µ GsoUøP°»õÚ ÂÀø»PøÍa 
÷\P›UPÂÀø». 

 I. J ÷\P›zu ÂÀø»PÎß GsoUøP K ©ØÖ® L C¸Á›ß ÷\P›¨¤ß Tmkz 
öuõøPUSa \©©õS® 

 II. L ÷\P›zu ÂÀø»PÎß GsoUøP J¸ •Ê Gsoß •®©i¨ ö£¸UPzxhß 3 
Tku»õS® 

 III. J ÷\P›zu ÂÀø»PÎß GsoUøP J¸ •Ê Gsoß ÁºUP©õS® 

 IV. K ÷\P›zu ÂÀø»PÎß GsoUøP J¸ •Ê Gsoß ÁºUPzvØ÷Põ AÀ»x 
•®©i¨ ö£¸UPzvØ÷Põ \©©õS® 

 V. M ©ØÖ® N C¸Áº ÷\P›zu ÂÀø»PÎß GsoUøP°ß ÂQu® 4 :3 BS®. 
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14. The number collected by J was 

(A) 27 

(B) 49 

(C) 36 

(D) 64 

J ÷\P›zu ÂÀø»PÎß GsoUøP 

(A) 27 

(B) 49 

(C) 36 

(D) 64 

15. The number collected by K was  

(A) 16 

(B) 27 

(C) 25 

(D) 36 

K ÷\P›zu ÂÀø»PÎß GsoUøP 

(A) 16 

(B) 27 

(C) 25 

(D) 36 

16. The Difference in the numbers collected by M and L was 

(A) 3 

(B) 2 

(C) 9 

(D) 5 

M  ©ØÖ® L BQ÷¯õº ÷\P›zu ÂÀø»PÎß GsoUøPPÐUS Cøh÷¯ EÒÍ ÷ÁÖ£õk 

(A) 3 

(B) 2 

(C) 9 

(D) 5 

17. The number/numbers of stamps collected by how many in the group was /were prime 

numbers? 

(A) 0 

(B) 1 

(C) 2 

(D) 3 

SÊÂÚº ÷\P›zu ÂÀø»PÎß GsoUøPPÎÀ GzuøÚ Gs/GsPÒ £Põ GsPÒ 

BS®? 

(A) 0 

(B) 1 

(C) 2 

(D) 3 
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18. The numbers collected by which pair among the following together add up to the cube 
of an integer? 

(A) K and L 

(B) J and N 

(C) M and N 

(D) M and L  

öPõkUP¨£mkÒÍ CønPÎÀ G¢u Cøn |£ºPÒ ÷\P›zu ÂÀø»PÎß ö©õzu 
GsoUøP J¸ •Ê Gsoß •®©i¨ ö£¸UPzvØSa \©®? 
(A) K ©ØÖ® L 
(B) J ©ØÖ® N 
(C) M ©ØÖ® N 
(D) M ©ØÖ® L 

19. ICT refers to  

(A) Internet Communication Technology  

(B) Information and Communication Technology 

(C) International Communication Technology 

(D) Instructional Communication Technology 

ICT–Cß Â›ÁõUP® 

(A) Internet Communication Technology  

(B) Information and Communication Technology 

(C) International Communication Technology 

(D) Instructional Communication Technology 

20. What is a blog? 

(A) Online music 

(B) Internet 

(C) A personal or corporate website in the form of an online journal  

(D) A personal or corporate Google search 

Áø»§[Põ Gß£x Gx? 

(A) {PÌ{ø» Cø\ 

(B) Internet 

(C) ªßÛuÌ ÁiÂÀ Aø©¢u uÛ|£º AÀ»x {ÖÁÚ Áø»©øÚ 

(D) uÛ|£º AÀ»x {ÖÁÚ TSÀ ÷uhÀ 

21. Which one of the following is an example of operating system? 

(A) Microsoft Word 

(B) Microsoft Excel 

(C) Microsoft Windows 

(D) Microsoft Access 
RÌPshÁØÖÒ G¢u JßÖ C¯UP Aø©¨¦UPõÚ GkzxUPõmk? 

(A) ø©U÷µõ\õ¨m ÷Áºk 

(B) ø©U÷µõ\õ¨m GU\À 

(C) ø©U÷µõ\õ¨m Âs÷hõì 

(D) ø©U÷µõ\õ¨m AUéì 
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22. One of the main essentials of Environmental Education for sustainable  

development is  

(A) To live in harmony with nature 

(B) To keep pace with times 

(C) To exploit natural resources 

(D) To achieve economic development 

{ø»zu ÁÍºa]US EuÄ® _ØÖ¨¦Ó `Ì{ø»U PÀÂ°ß CßÔ¯ø©¯õu TÖPÎÀ 
•UQ¯©õÚöuõßÖ 

(A) C¯ØøP÷¯õk CnUP©õP ÁõÌuÀ 

(B) Põ» Kmhz÷uõk Kmi JÊPÀ 

(C) ÁÚ ÁÍ[PøÍ ªSv¯õP GkzuÀ 

(D) ö£õ¸Íõuõµ ÁÍºa]ø¯ AøhuÀ 

23. Environmental Education gained widespread attention after the United Nations 

Earth Summit (United Nations Conference on Environment and Development)  in 

1992 held at : 

(A) Paris 

(B) Rio de Jeneiro 

(C) Geneva 

(D) Rome 

1992 B® BsiÀ IUQ¯ |õkPÎß E»P Ea] ©õ|õmiØS¨ (IUQ¯ |õkPÎß _ØÖ¨¦Ó 
`Ì{ø» ©ØÖ® ÁÍºa] ©õ|õk) ¤ÓS _ØÖ¨¦Ó `Ì{ø»UPÀÂ¯õÚx ö£¸©ÍÄ ©UPÎß 
PÁÚzøu Dºzux. C®©õ|õk {PÌ¢u Ch©õÁx  

(A) £õ›ì 

(B) ›÷¯õ i öáÛ÷µõ 

(C) öáÛÁõ 

(D) ÷µõ® 

24.  ‘‘Green peace’’ is 

(A) An international NGO 

(B) International peace accord 

(C) International treaty on ocean dumping 

(D) UN’s environmental initiative 

""QŸß ¥ì'' Gß£uõÁx 

(A) J¸ £ßÚõmk Aµ_ \õµõ {ÖÁÚ® 

(B) £ßÚõmk Aø©v Ehß£õk 

(C) Ph¼À ÷ÁshõuøÁPøÍU öPõmkuÀ £ØÔ¯ £ßÚõmk J¨£¢u® 

(D) IUQ¯ |õkPÎß _ØÖ¨¦Ó `Ì{ø» ^µõUP |hÁiUøP 
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25.  The employability of present day students can be greatly enhanced by 

(A) Advanced equipment  

(B) Interface with business organizations 

(C) Development of soft skills  

(D) In-take of bright students  

 CßøÓ¯ ©õnÁºPÎß ÷Áø»Áõ´¨¦zvÓøÚ¨ ö£›x® ÷©®£kzxÁx 

(A) ÷©ßø©¯õÚ P¸ÂPÒ 

(B)  öuõÈÀ {ÖÁÚ[PÐhß CønÄ 

(C) ö©ßvÓ[PøÍ ÁÍ¨£kzuÀ  

(D) AÔÁõº¢u ©õnÁºPÒ ÷\ºUøP 

26. Value Education stands for 

(A) Making a student strong in subjects 

(B) Enhancing student employability 

(C) Inculcating virtues and culture to students 

(D) Developing student personality 

 ©v¨¦Ö PÀÂ¯õÁx 

(A) ©õnÁøÚ¨ £õh[PÎÀ vÓÝÒÍÁõÚõUPÀ 

(B) ©õnÁÛß ÷Áø»Áõ´¨¦zvÓ® E¯ºzuÀ 

(C) ©õnÁÝUS |ßöÚÔ²® £s£õk® FmhÀ 

(D) ©õnÁÛß BÐø©zvÓøÚ ÷©®£kzuÀ 

27. If the main purpose of higher education is ‘‘grading and certification’’, then the 

examination system followed would be 

(A) Formative examination 

(B) Summative examination 

(C) Semester examination 

(D) Diagnostic test 

 ‘‘uSv ©ØÖ® \õßÔuÌ’’ ÁÇ[SÁøu •UQ¯ SÔU÷PõÍõPU öPõsh E¯ºPÀÂ •øÓ°À 

¤ß£ØÓ¨£k® ÷uºÄ •øÓ¯õÚx 

(A) öuõhº ÷uºÄ •øÓ 

(B) CÖvz ÷uºÄ •øÓ 

(C) £¸Áz ÷uºÄ •øÓ 

(D) SøÓ¯Ô ÷\õuøÚ 
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28. The main objective of teaching at higher education level is  

(A) To prepare students to pass examination 

(B) To develop the capacity to take decisions  

(C) To give new information 

(D) To motivate students to ask questions during lecture 

 E¯º PÀÂ AÍÂÀ PØ¤zu¼ß •ußø© ÷|õUP®  

(A) ÷uºÂÀ öÁØÔ ö£Ó ©õnÁºPøÍz u¯õº ö\´uÀ 

(B) •iöÁkUS® vÓøÚ ÁÍºzuÀ 

(C) ¦v¯ uPÁÀPøÍ AÎzuÀ 

(D) Â›Äøµ°ß ÷£õx ÂÚõz öuõkUP ©õnÁºPøÍ FUP¨£kzxuÀ 

29. The conventionally followed teaching method in higher education is  

(A) Discussion method 

(B) Lecture method 

(C) Audio – Visual Aids 

(D) Text book method 

 G¢uU PØ¤zuÀ •øÓ E¯ºPÀÂ°À ÁÇUP©õP £¯ß£kzu¨£kQÓx? 

(A) ÂÁõu •øÓ 

(B) Â›Äøµ •øÓ 

(C) ö\Â¨¦» Pm¦» P¸ÂPÒ •øÓ 

(D) £õh¨¦zuP •øÓ 

30. Which of the following is an instructional equipment? 

(A) Overhead projector 

(B) Audio casset 

(C) Printed material  

(D) Transparency sheets 

 ¤ßÁ¸ÁÚÁØÔÀ Gx PØ¤zuÀ P¸Â BS®? 

(A) £hzuõÒ P¸Â 

(B) J¼ |õhõ 

(C) Aa]h¨£mh £õh® 

(D) £hzuõÒ 
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31. What is a period in writing? 

(A) It is a stretch of time with a beginning and an end 

(B) It refers to a particular slot of time 

(C) A punctuation mark appearing at the end of a sentence 

(D) A symbol in writing which separates the main clause from a subordinate clause 

in a sentence 

 GÊx® GÊzvÀ •ØÖ¨¦ÒÎ Gß£x ¯õx? 

(A) Bµ®£® ©ØÖ® •iÄÒÍ J¸ SÔ¨¤mh Põ»©õS® 

(B) Ax J¸ SÔ¨¤mh Põ»©õS® 

(C) J¸ ö\õØöÓõh›ß Pøh]°À C¸US® SÔ±k 

(D) J¸ ö\õØöÓõh›À EÒÍ •ußø© ©ØÖ® \õº¦a ö\õØöÓõhºPøÍU Põmk® SÔ±k 

32. The term, browsing in reading means 

(A) To collect information 

(B) To make desultory reading 

(C) To read here and there in books 

(D) To read from the computer screen 

 Áõ]US®÷£õx, ~Û¨¦À ÷©´uÀ GßÓõÀ GßÚ ö£õ¸Ò? 

(A) uPÁø»a ÷\P›zuÀ 

(B) SÔU÷PõÍØÖ¨ £izuÀ 

(C) J¸ ¦zuPzvÀ C[öPõßÖ® A[öPõßÖ©õP¨ £izuÀ 

(D) PoÛ°ß vøµ°¼¸¢x £izuÀ 

33. What is working bibliography? 

(A) It is a list of books and other sources a researcher wishes to read for the thesis 

(B) It is a list of books referred to by a researcher in the thesis 

(C) It is a list of books which are considered major sources in research reading 

(D) It is a list of books which are considered associated sources in research reading 

 £¯ß£õmk ¡Ø£mi¯À GßÓõÀ GßÚ? 

(A) uÚx B´ÄU PmkøµUPõP Kº Bµõ´a] ©õnÁº £iUP C¸US® ¡Ø£mi¯À ©ØÖ® 

¤Ó ‰»[PÒ 

(B) Kº Bµõ´a] ©õnÁº uÚx Pmkøµ°À £¯ß£kzx® ¡Ø£mi¯À 

(C) Bµõ´a]UPõP J¸ ©õnÁº £¯ß£kzx® •ußø© ¡À Buõµ ‰»[PÎß £mi¯À 

(D) Bµõ´a]UPõP J¸ ©õnÁº £¯ß£kzx® \õº¦ ¡À Buõµ ‰»[PÎß £mi¯À 
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 Read the following passage and answer the six of the following questions given below : 

 The great advantage of early rising is the good start it gives us in our day’s work. The 

early riser has done a large amount of hard work before other men have got out of bed. 

In the early morning the mind is fresh, and there are few sounds or other distractions, 

so that the work done at the time is generally well done. In many cases the early riser 

also finds time to take some exercise in the fresh morning air, and this exercise supplies 

him with a fund of energy that will last until the evening. By beginning so early, he 

knows that he has plenty of time to do thoroughly all the work he can be expected to do, 

and is not tempted to hurry over any part of it.All his work being finished in good time, 

he has a long interval of rest in the evening before the timely hour when he goes to bed. 

He gets to sleep several hours before midnight, at the time when sleep is most 

refreshing, and after a sound night’s rest rises early next morning in good health and 

spirits for the labours of a new day.  

 It is very plain that such a life as this is far more conducive to health than that of the 

man who shortens his waking hours by rising late, and so can afford in the course of the 

day little leisure for necessary rest. Anyone who lies in bed late, must, if he wishes to do 

a full day’s work, go on working to a correspondingly late hour, and deny himself the 

hour or two of evening exercise that he ought to take for the benefit of his health. But in 

spite of all his efforts, he will probably not produce as good results as the early riser, 

because he misses the best working hours of the day. 

R÷Ç öPõkUP¨£mkÒÍ £zvPøÍ¨ £izx AvÛ¼¸¢x ¤ßÁ¸® BÖ ÂÚõUPÐUS 
Âøh¯ÎUPÄ®  : 

 øÁPøÓ x°À GÊÁöuß£x |©US ªP¨ö£›¯ £¯øÚz uµÁÀ»x. AuõÁx, |©x 
AßÓõh¨ £o°øÚ ö\ÆÁ÷Ú öuõh[P»õ®. øÁPøÓ x°À GÊ£Áº uõ©u©õP 
GÊ£ÁºPøÍ Âh AvP©õÚ £o°øÚ ö\´x •i¨£º. AvPõø»¨ ö£õÊvÀ ©Úx 
¦zxnº÷Áõk C¸US®. ÷©¾® Cøµa\¾® HøÚ¯ Gsna ]uÓÀPÐ® SøÓÁõP 
C¸US®. GÚ÷Á, A¢÷|µzvÀ ÷©ØöPõÒÍ¨£k® £o ]Ó¨£õP Aø©²®. ö£¸®£õ¾®, 
AvPõø»°À GÊ£ÁºPÒ, y´ø©¯õÚ PõØÔÀ  EhØ£°Ø] ö\´ÁuØS ÷uøÁ¯õÚ 
÷|µzvøÚ¨ ö£ÖQßÓÚº.  A¢u EhØ£°Ø]¯õÚx AßÓõh¨ £o°øÚa ö\´ÁuØS 
]Ó¢u \Uv, ¦zxnºÂøÚ ©õø»Áøµ u¸QßÓx. øÁPøÓ x°À GÊÁuß ‰»®, uõß 
ö\´¯ ÷Ási¯ £o°øÚ ö\ÆÁ÷Ú ö\´ÁuØS, J¸ ©ÛuÝUS AvP©õÚ ÷|µ® 
QøhUQßÓx. Auß Põµn©õP, AÁ\µPv°À £oø¯ •iUP ÷Ásk® GßÓ A£zu©õÚ 
Bø\US ChªÀ»õ©À ÷£õQßÓx. CÆÁõÖ ÷|µ¨£i £o ö\´Áuß ‰»®, 
A®©ÛuÝUS ©õø»°À \ØÖ K´Ä QøhUQßÓx, GÚ÷Á ©Ú{øÓ÷Áõk CµÄ EÓ[Pa 
ö\ÀQßÓõº. •ßÛµÄz yUP® ¦zxnºa] AÎUPÁÀ»x. A¨£i¨£mh yUPzvøÚ, 
øÁPøÓ x°À GÊ£Áº ö£ÖQßÓõº. Auß Põµn©õP, ©Ö|õÒ Põø»°À GÊ®÷£õx 
¦zxnºa]÷¯õk®, ¦zuõUPz÷uõk®, £o°øÚz öuõh[SQßÓõº. 

 AvP ÷|µ® y[S£ÁøµU Põmi¾®, AÍ÷Áõk y[Q AvPõø» GÊ£Á¸US EhÀ |»® 
]Ó¨£õP Aø©²®. CµÄ AvP ÷|µ® y[S£Á¸US £PØö£õÊx K´öÁkUP ÷|µ® 
Aø©¯õx. uõ©u©õP ÂÈzx GÊ£Á¸US, AßøÓ¯ £o°øÚ •ÊÁx©õP ö\´x 
•i¨£uØPõP, K´ÂÀ»õ©À, £PÀ •ÊÁx® AvP ÷|µ® £o ö\´¯ ÷Ási¯ AÁ]¯® 
HØ£kQßÓx. Bu»õÀ AÁº, ©õø» EhØ£°Ø] ö\´²® ÷|µzvøÚ CÇUQßÓõº.  Auß 
Põµn©õP EhÀ B÷µõUQ¯® SøÓQßÓx. ]Ó¢u •¯Ø] ö\´u÷£õx®, uõ©u©õPz x°À 
GÊ£Áº, CµÄ |ßS EÓ[Q¨ £o ö\´£Áº÷£õ»a ]Ó¨£õP ö\¯À£h •iÁvÀø». 
HöÚÛÀ, £P¼À |ßS £o ö\´²® ÷|µzvøÚ, uõ©u©õPz x°À GÊÁuß ‰»® 
CÇUQßÓõº. 
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34. Why is work done in the early morning well done? 

(A) There is no tension in man  

(B) The mind is fresh and almost free from sounds and distractions  

(C) The mind is receptive 

(D) The morning air contains lot of oxygen  

 AvPõø»°À ö\´²® £o Hß ]Ó¨£õP Aø©QßÓx? 

(A) ©ÛuÛhzvÀ £h£h¨¦ CÀø» 

(B) ©Úx ¦zxnºa]÷¯õk, Gsna ]uÓÀ ©ØÖ® vø\ v¸¨¦® \¨u[PÒ CÀ»õ©À 
C¸UQßÓx 

(C) ©ÚuõÚx Gøu²® GÎuõP HØÖU öPõÒÐ® {ø»°À EÒÍx 

(D) øÁPøÓ°À E°ºU PõØÖ {µ®¤²ÒÍx 

35. What enables the early riser to go to bed at the proper time? 

(A) Early dinner helps him to go to sleep early 

(B) General tiredness makes him start sleeping early 

(C) Free-minded mood brings him sleep 

(D) Completion of the day’s work and along interval of rest make him sleep early 

 øÁPøÓ x°À GÊ£Á¸US \›¯õÚ ÷|µzvÀ EÓ[Pa ö\À» Gx Põµn©õQßÓx? 

(A) •ßÛµ÷Á Esq® EnÁõÚx, ÂøµÁõP EÓUPzvøÚ ÁµÁøÇUQßÓx 

(B) PøÍ¨¤ß Põµn©õP ÂøµÂÀ EÓ[Pa ö\ÀQßÓõº 

(C) ©Úx ÷»\õP C¸¨£uß Põµn©õP EÓUP® Á¸QßÓx 

(D) ÷|µzvÀ £oø¯ •i¨£uõ¾®, ¤Ø£P¼À K´Ä Gk¨£uõ¾® ÂøµÁõP ©ÛuÝUS 
EÓUP® Á¸QßÓx 

36. Why is the late riser unable to do his work properly? 

(A) He feels sleepy and fails to concentrate on work 

(B) Late hour work dampens his work 

(C) Lack of leisure for rest and evening exercise affect him  

(D) Fatigue impedes his work  

 uõ©u©õPz x°À GÊ£ÁµõÀ, Hß £oø¯a \›¯õP ö\´¯ •iÁvÀø»? 

(A) yUPU P»UP® Põµn©õP £o°À PÁÚ® ö\¾zu •iÁvÀø» 

(B) Põ» uõ©uzuõÀ ÷u[S® ÷Áø»¨£Ð ©ÛuÛß EØ\õPzvøÚ CÇUPa ö\´QßÓx 

(C) K´Âßø© ©ØÖ® ©õø»¨ö£õÊx EhØ£°Ø]°ßø© J¸Á›ß £oø¯U 
ö\ÆÁ÷Ú ö\´¯ Âhõ©À ukUQßÓx 

(D) PøÍ¨¦, £o°À Chº£õmiøÚ EshõUSQßÓx 

37. Of the following sleep – time – slots, which is most refreshing? 

(A) At midnight 

(B) Before midnight  

(C) After midnight  

(D) Early in the morning  
 G¢u ÷|µzvÀ ÷©ØöPõÒÐ® EÓUP® AvP©õÚ ¦zxnºa]ø¯z u¸QßÓx? 

(A) |ÒÎµÄ 

(B) •ßÛµÄ 

(C) ¤ßÛµÄ 

(D) øÁPøÓ 
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38. The term, “Conducive” means 

(A) Comfortable  

(B) Likely to produce 

(C) Conduction 

(D) Connectivity 

 “]Ó¨£õP Aø©²®” GßÓ ö\õÀ¼ß ö£õ¸Ò ¯õx? 

(A) Á\v¯õÚ 

(B) E¸ÁõP Áõ´¨£õS® 

(C) \Uv PhzxuÀ 

(D) öuõhº¦ 

39. What happens to the early riser in the hours before midnight? 

(A) He gets dreams 

(B) He speaks to God 

(C) He gets sound sleep 

(D) He prepares himself for the next day’s work 

 øÁPøÓ x°À GÊ£Á¸US •ßÛµÂÀ GßÚ HØ£kQÓx? 

(A) PÚÄ PõsQÓõº 

(B) PhÄÎh® ÷£_QßÓõº 

(C) BÌ¢u EÓUP® HØ£kQßÓx 

(D) ©Ö|õÒ £oUS ußøÚ B¯zu® ö\´x öPõÒQßÓõº 

40. Feedback is necessary in effective communication because  

(A) It provides continuity to dialogue  

(B) It inspires the sender to speak more 

(C) It tells the sender whether the receiver has understood the message 

(D) It shows the receiver’s intellectual capability 

uPÁÀ öuõhº¤À ¤ßÞmk Gß£x 

(A) ÷£a\õØÓ¾US öuõhºa]ø¯ AÎUQÓx 

(B) AÝ¨¦|øµ AvP® ÷£\z yskQÓx 

(C) ö£Ö|º ö\´vø¯ AÔ¢x öPõshõµõ GÚ AÝ¨¦|¸US öu›ÂUQÓx 

(D) ö£Ö|›ß AÔÁõØÓø» ¦»¨£kzxQÓx 
41. The main limitation of oral communication is  

(A) That it may degenerate into directionless conversation 

(B) That it may take up too much time 

(C) That it cannot be used as a record for future reference 

(D) That it needs people to come face to face with each other 

 Áõ´ö©õÈz uPÁ¼ß •UQ¯ SøÓ£õk ¯õöuÛÀ  

(A) Ax ÷|õUP©ØÓ Eøµ¯õh¼À £¯ÚØÖ •i²® 

(B) Ax AvP AÍÄ ÷|µzøu GkzxU öPõÒÐ® 

(C) Gvº Põ»U SÔ¨¦US BÁn©õP Aø©¯õx 

(D) ©ÛuºPÒ ÷|¸US÷|º Eøµ¯õh Ax ÁÈÁSUS® 
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42. What is whistle – blowing? 
(A) Going public about abuses  
(B) A business dealing in whistles 
(C) Blowing whistle as a signal 
(D) Dealing with publicly known facts 

 ‘FuÀ – FxuÀ’ Gß£x 
(A) uÁÖPøÍ öÁÎU öPõnºuÀ 
(B) Fu¼À ö\´¯¨£k® ÁõoP® 
(C) Aøh¯õÍ©õP FuÀ FxuÀ 
(D) öÁÎ°À öu›¢u Esø©PøÍU TÖuÀ 

43. A philanthropic organization donated Rs. 28,000 in such a way that each girl received 
Rs. 2,000 and each boy Rs. 1,000. If the number of boys is less than that of girls by 2, 
find the number of boys. 
(A) 8 
(B) 15 
(C) 10 
(D) 28 

 Kº öuõsk {ÖÁÚ® |ßöPõøh¯õP ÁÇ[Q¯ ¹. 28,000–vÀ, JÆöÁõ¸ ]ÖªUS® 
Qøhzux ¹. 2,000. JÆöÁõ¸ ]ÖÁÝUS® Qøhzux ¹. 1,000. ]ÖÁºPÎß GsoUøP 
]ÖªPÎß GsoUøPø¯ Âh 2 SøÓÄ GÛÀ, ]ÖÁºPÒ ö©õzu® GzuøÚ ÷£º? 
(A) 8 
(B) 15 
(C) 10 
(D) 28 

44. A student was asked to add 16 to a number and subtract 10 from it. He by mistake 
subtracted 16 and added 10 and arrived at the answer 32. What is the right answer? 

(A) 20 
(B) 26 
(C) 44 
(D) 32 

 J¸ Gsqhß 16 GßÓ GsønU Tmi, 10 GßÓ GsønU PÈUS©õÖ J¸ ©õnÁº 
£oUP¨£mhõº. BÚõÀ, A¢u ©õnÁº uÁÖu»õP 16 GßÓ GsønU PÈzx, 10 GßÓ 
GsønU Tmi, Âøh 32 GßÖ TÔÚõº GßÓõÀ, RÌPshÁØÖÒ Gx \›¯õÚ Âøh? 

(A) 20 
(B) 26 
(C) 44 
(D) 32  

45. A student attempted 116 questions in an examination. In this examination, every 
wrong answer was given 1/3 minus mark and every right answer was given 1 mark.  
If the student scored zero mark, how many wrong answers were given by him? 

(A) 29 

(B) 58 

(C) 87 

(D) 100 

 ÷uºÂÀ J¸ ©õnÁº 116 ÂÚõUPÐUS¨ £vÀ AÎzuõº. A¢uz ÷uºÂÀ, JÆöÁõ¸ 
\›¯õÚ ÂøhUS® J¸ ©v¨ö£s ÁÇ[Qz, uÁÓõÚ Âøh JÆöÁõßÖUS®  
1/3 ©v¨ö£s PÈUP¨£mhx. A¢u ©õnÁº ö£ØÓ ©v¨ö£s §ä¯® GßÓõÀ, GzuøÚ 
uÁÓõÚ ÂøhPÒ ÁÇ[Q C¸¨£õº? 
(A) 29 

(B) 58 

(C) 87 

(D) 100 
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 Read the following information carefully and answer the questions below  

from 46 – 51 :  

 Six professors P, Q, R, S, T and U have to present research papers on their subjects, 

namely, services marketing, consumer behaviour, rural marketing, brand 

management, experimental marketing and industrial marketing. One professor will 

present his paper and findings only one day. Presentations will start from Monday 

and will end on Sunday. There will be a day for rest. 

(i) Services marketing will  immediately follow experimental marketing 

(ii) P, who teaches industrial marketing, will present either on the second or  

last day 

(iii) R will present on the third day, Brand management will be on the fifth day 

(iv) T, professor of consumer behaviour, presents on the second day  

(v) Q has presented on Monday, and the rest day will be immediately after U’s 

presentation 

¤ßÁ¸® uPÁø»U PÁÚ©õP¨ £izx Ai°ØPsh ÂÚõUPÒ 46-–51US Âøh¯ÎUPÄ®. 
P, Q, R, S, T ©ØÖ® U BQ¯ BÖ ÷£µõ]›¯ºPÒ uzu® £õh[PÎÀ B´ÄU PmkøµPøÍ 
ÁÇ[P C¸UQÓõºPÒ. AÁºu® £õh[PÒ ÷\øÁa \¢øu°hÀ, ~Pº÷Áõº |hzøu, FµPa 
\¢øu°hÀ, SÔ±k ÷©»õsø©°¯À, ÷\õuøÚa \¢øu°hÀ ©ØÖ® öuõÈÀ \¢øu°hÀ 
BQ¯øÁ BS®. J¸ ÷£µõ]›¯º uÚx B´ÄU Pmkøµø¯²® B´Ä •iÄPøÍ²® 
J÷µö¯õ¸ |õÎÀ ©mk® ÁÇ[SÁº. PmkøµPÒ ÁÇ[P¨ö£ÖÁx v[PmQÇø© öuõh[Q 
bõ°ØÖUQÇø© •iÄÖ®. J¸ |õÒ K´Ä Âh¨£k®. 
(i) ÷\õuøÚa \¢øu°hø»z öuõhº¢x Ehß Á¸Áx ÷\øÁa \¢øu°hÀ 
(ii) öuõÈÀ \¢øu°hø» PØ¤US® P, Cµshõ® |õÒ AÀ»x CÖv |õÎÀ Pmkøµ 

ÁÇ[SÁõº 
(iii) ‰ßÓõ® |õÎÀ R Pmkøµ ÁÇ[SÁõº. SÔ±k ÷©»õsø© I¢uõ® |õÎÀ Ch® ö£Ö® 
(iv) ~Pº÷Áõº |hzøu¨ ÷£µõ]›¯º T Cµshõ® |õÍßÖ Pmkøµ ÁÇ[SQÓõº 
(v) v[PmQÇø© Q Pmkøµ ÁÇ[QÚõº. U Pmkøµ ÁÇ[SÁøuz öuõhº¢x Ehß Á¸Áx 

K´Ä |õÍõP Aø©²®. 
46. Which day is the rest day? 

(A) Sunday 

(B) Saturday 

(C) Monday 

(D) Thursday 

 K´Ä |õÒ Gx?  
(A) bõ°ØÖUQÇø© 

(B) \ÛUQÇø© 
(C) v[PmQÇø© 
(D) Â¯õÇUQÇø© 

47. When will be the presentation on rural marketing? 

(A) Sunday 

(B) Monday 

(C) Tuesday  

(D) Wednesday 

FµPa \¢øu°hÀ Pmkøµ ÁÇ[P¨ ö£ÖÁx G¨÷£õx? 
(A) bõ°ØÖUQÇø© 
(B) v[PmQÇø© 

(C) ö\ÆÁõ´UQÇø© 
(D) ¦ußQÇø© 
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48. Who will present just after Q and just before R? 

(A) S 

(B) T 

(C) P 

(D) U 

Q I Eh÷Ú öuõhº¢x®, R USa \Ø÷Ó •ßÚuõPÄ® ÁÇ[P C¸¨£x ¯õº? 

(A) S 

(B) T 

(C) P 

(D) U 

49. Services marketing is immediately succeeded by which topic 

(A) Consumer behaviour  

(B) Rural marketing 

(C) Industrial marketing 

(D) Brand management 

÷\øÁa \¢øu°øÚ Ehß öuõhº¢x Á¸® uø»¨¦ ¯õx? 

(A) ~Pº÷Áõº |hzøu 

(B) FµPa \¢øu°hÀ 

(C) öuõÈÀ \¢øu°hÀ 

(D) SÔ±k ÷©»õsø©°¯À 

50. Who is the professor of brand management? 

(A) P 

(B) Q 

(C) U 

(D) S 

SÔ±k ÷©»õsø©°¯À ÷£µõ]›¯º ¯õº? 

(A) P 

(B) Q 

(C) U 

(D) S 

51. Who presents the research paper on industrial marketing? 

(A) S 

(B) Q 

(C) P 

(D) U 

öuõÈÀ \¢øu°hÀ SÔzu B´ÄU Pmkøµø¯ ÁÇ[S£Áº ¯õº? 

(A) S 

(B) Q 

(C) P 

(D) U 
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52. HTML stands for  

(A) Hyper Text Manipulation Language 

(B) Hyper Text Mark-up Language 

(C) Hyper Text Managing Links 

(D) Hyper Text Manipulation Links 

HTML –Cß Â›ÁõUP® 

(A) Hyper Text Manipulation Language 

(B) Hyper Text Mark-up Language 

(C) Hyper Text Managing Links 

(D) Hyper Text Manipulation Links 

53. Virtual memory is  

(A) a form of ROM 

(B) a form of RAM 

(C) a secondary memory 

(D) a coprocessor 

ö©´ {Pº {øÚÁP® Gß£x 

(A) J¸ ÁøP ROM 

(B) J¸ ÁøP RAM 

(C) xøn {ø» {øÚÁP® 

(D) Cøna ö\¯¼ 

54. Assertion I : In computer any language other than the machine language is called  

     pseudo language 

 Assertion II : The computers can understand only the machine language directly. 

(A) Assertion I  is true, but Assertion II is false 

(B) Assertion I is false, but Assertion II is true 

(C) Both the Assertion I and II are true 

(D) Both the Assertion I and II are false 

wºÄ I : PoÛ°À G¢vµ ö©õÈ uÂµ ÷ÁÖ G¢u J¸ ö©õÈø¯²® ÷£õ¼ö©õÈ GÚ»õ® 

wºÄ II : PoÛ G¢vµ ö©õÈø¯ ©mk÷© ÷|µi¯õP¨ ¦›¢xöPõÒÍ ÁÀ»x 

(A) wºÄ I \›, BÚõÀ wºÄ II  uÁÖ 

(B) wºÄ I uÁÖ, BÚõÀ wºÄ II  \› 

(C) wºÄ I ©ØÖ® II   – Cµsk÷© \› 

(D) wºÄ I ©ØÖ® II  – Cµsk÷© uÁÖ 
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55. Which of the following is called, ‘‘The Great Charter of Indian Education ’’? 

(A) Butler Commission Report 

(B) Calcutta University Commission Report 

(C) Lord Macaulay’s Minutes (1835) 

(D) Gajendragadkar Committee Report 

 RÊÒÍÁØÔÀ Gx ‘‘C¢v¯U PÀÂ°ß ©Põ\õ\Ú®’’ GßÖ AøÇUP¨£kQÓx? 

(A) £m»º SÊ AÔUøP 

(B) PÀPzuõ £ÀPø»UPÇPU SÊ AÔUøP 

(C) ö©UPõ÷» ¤µ¦Âß SÔ¨¦PÒ (1835) 

(D) P÷á¢vµPmPº SÊ AÔUøP 

56. Navodaya Vidyalayas are opened for 

(A) Rural students 

(B) Rural talented students 

(C) Urban students 

(D) Orphans 

 |÷Áõu¯õ PÀÂU Th[PÒ CÁºPÐUöPÚz öuõh[P¨£mhx 

(A) FµP ©õnÁºPÐUS 

(B) FµP vÓø©ªUP ©õnÁºPÐUS 

(C) |Pµ ©õnÁºPÐUS 

(D) BuµÁØ÷ÓõºUS 

57. The assessment and accreditation of all technical institutions is done by 

(A) NAAC 

(B) AICTE 

(C) NCTE 

(D) NBA 

 AøÚzx öuõÈØPÀÂ {ÖÁÚ[PÐUPõÚ uµ {ºn¯•® \õßÓÎ¨¦® ö\´²® 

{ÖÁÚ©õÁx 

(A) NAAC 

(B) AICTE 

(C) NCTE 

(D) NBA 
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58. Human activities such as the burning of fossil fuels and indiscriminate felling of trees 

are very harmful to :  

(A) Vegetation 

(B) Animal life 

(C) Ecosphere 

(D) Water bodies 

C¯ØøP G›ö£õ¸ÒPøÍ¨ ö£¸©ÍÄ £¯Ük ö\´u¾®, Ps ‰izuÚ©õP ©µ[PøÍ 

öÁmku¾©õÚ ©Ûu ö\¯ÀPÍõÀ ªPÄ® £õv¨¦US EÒÍõÁuõÁx 

(A) uõÁµ CÚ® 

(B) Â»[QÚ® 

(C) _ØÖ¨¦Ó Ash öÁÎ 

(D) }º {ø»PÒ 

59. One of the worst impurities that influences the safety of the drinking water resource  

is : 

(A) Barks of trees 

(B) Marine objects 

(C) Micro-organisms 

(D) Insects 

Si}º Buõµ[PÎß £õxPõ¨ø£¨ ö£›x® Sø»US® ÷©õ\©õÚ ©õ_PÎÀ JßÓõÁx 

(A) ©µ[PÎß £møhPÒ 

(B) }º ÁõÌ E°›Ú[PÒ 

(C) ~sq°ºPÒ 

(D) §a]PÒ 

60. Which of the following natural resources is non-renewable? 

(A) Minerals and fossil fuels 

(B) Flora and fauna 

(C) Fresh water 

(D) Fertile agricultural soil 

RÊÒÍ C¯ØøP ÁÍ[PÎÀ «sk® ¦x¨¤UP •i¯õux? 

(A) PÛ©[PÐ® C¯ØøP G›ö£õ¸ÒPÐ® 

(B)  ©µÂøh²® ©õÂøh²® 

(C) |ßÜº 

(D) ÁÍ©õÚ ÷ÁÍõsø© {»® 

———————
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PAPER – 1                               A- SET  KEY               SET 2012 

1 C 16 D 31 C 46 B 

2 D 17 B 32 C 47 B 

3 D 18 D 33 A 48 B 

4 D 19 B 34 B 49 D 

5 B 20 C 35 D 50 C 

6 B 21 C 36 C 51 C 

7 B 22 A 37 B 52 B 

8 A 23 B 38 B 53 B 

9 D 24 A 39 D 54 C 

10 B 25 C 40 C 55 C 

11 C 26 C 41 C 56 B 

12 D 27 B 42 A 57 D 

13 C 28 B 43 A 58 C 

14 C 29 B 44 C 59 C 

15 C 30 A 45 C 60 A 

 


